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2021

ECONOMICS-I — GENERAL
Fourth Paper
(C-14-G)
Full Marks : 100

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]
The figures in the margin indicate full marks.
Module - 1
Group - A

1. Answer the following questions : 2x5

(a) Distinguish between value and price.
Or,
What is ‘production possibility curve’?

(b) State the ‘Law of variable proportions’.
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2.

Or,
What is an isoquant?
(c) Distinguish between ‘fixed cost’ and ‘variable cost’.
(d) Mention two features of Indifference Curve.
Or,
Define budget line.

(e) Define cross-price elasticity of demand.

Group - B
Answer the following questions :
(a) Discuss the features of a monopoly market.

Or,

What is shut-down point? Show the shut-down point with the help of a diagram.

(b) How market demand curve is determined from individual demand curve?
Or,

State the ‘Law of demand’. Mention two exceptions to this law.
(c) Explain why two isoquants can not intersect each other.
(d) What is the relationship between Average Cost (AC) and Marginal Cost (MC)?
(e) What is ‘transfer earning’? How is it related to ‘economic rent’?
(f) Why is the supply curve of labour backward-bending?

Or,

Distinguish between ‘gross profit’ and ‘net profit’.

Group - C

Answer the following questions :

242

2+2

2+2

2+2

2+2

(a) What is Income Effect? How is an Income Consumption Curve (ICC) derived for a consumer?

What will be the shape of ICC when one of the two goods is inferior?

24343

(b) What is meant ‘Monopolistic Competition’? Discuss the short-run equilibrium of a firm in this market.

Or,

Explain the short-run equilibrium of a firm under perfect competition.

2+6
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Module - 2
Group - A
4. Answer the following questions : 2%5
(a) Define Gross Domestic Product (GDP).

Or,

What is personal disposable income?

(b) Mention any one method of measurement of National Income in India.
Or,

What is National Income?
(c) Define ‘Per Capita Income’.
(d) What is meant by occupational structure?
(e) What is meant by sectoral composition of national income in India?

Or,

What is the contribution of tertiary sector to the national income of India?

Group - B
5. Answer the following questions :
(a) Indicate briefly any five features of Indian economy. 5
(b) What is poverty line? Discuss three causes of poverty in India. 2+3
Or,
What is black money? Mention the causes of emergence of black money in India. 2+3
(c) Explain the causes of income inequality in India. 5
(d) State the various sources of rural credit in India. 5
Or,
Write a short note on WTO. 5
Group - C
6. Answer the following questions :
(a) Analyse the causes and consequences of Green Revolution in India. 10
Or,
Make an assessment of the Industrial Policy of India in 1991. 10

(b) What are the objectives of Five Year Plans in India? How far these objectives have been fulfilled?
5+5



